REVIEW' SM3 Test Review Unit 11
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" Evaluate the logarithm without a calculator. Show work!
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Find the following using a calculator. Round to the nearest ten thousan ths.
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Rewrite as an exponential function.
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Rewrite as a logarithmic function.
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Rewrite the expression as a sum or difference or multiple of logarithms.
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Use the product, quotient and power rules of logarithms to rewrite the expression as a single logarithm.
Assume that all variables represent positive real numbers.
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Write the change of base rule to find the logarithm to the nearest ten thousandths.
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Solve each equation. Show work. Round to the nearest thousandths if necessary.
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